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(A) (%) (B) (%) (A) —(B) (B)
=8 i 46,754,047 13.8 55,218,696 16.3 A 8,464,649 84.7
I RCE- & R 11,827,764 3.5 11,621,643 3.4 206,121 101.8
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e R A A 1,131,109 0.3 1,394,404 0.4 A 263,295 81.1
A B & Y F R 4,663,879 1.4 4,571,519 1.4 92,360, 102.0
S A 49,227,893 14.5 46,317,666 13.7 2,910,227 106.3
%) pE Y A 1,352,032 0.4 1,391,441 0.4 A 39,409 97.2
% 5 N 60,000 0.0 80,000 0.0 A 20,000 75.0
e A 4 14,482,857 4.3 11,099,686 3.3 3,383,171 130.5
Ao ik 4 100,000 0.0 100,000 0.0 0/ 100.0
G4 1z A 18,896,997 5.6 20,825,410 6.2 A 1,928,413 90.7
I & 71,723,000 21.2 51,966,000 15.4 19,757,000] 138.0
C W B BT B X ok 13 ) 44,121,000 13.0 21,840,000 6.5 22,281,000] 202.0
(T F BF B X SR IE bR &) 27,602,000 8.2 30,126,000 8.9 A 2,524,000 91.6
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[EPNESEwE7 A 873 ( 15,338 — 14,465 ) TelifEE kA N4 A 2,300 (7,300 — 5,000 )
ENFEERL A 4,232 (12,460 — 8,228 ) (GEIA)
(5 EEBLD FEIRAHAZ FEULA 787 ( 353 — 1,140 )
[ N BRI 5B 3,729 ( 0~ 3,729)| VG F AR 7 SR iR B T A0 S e T RIS 516 ( 0—  516)
(Hb 5 2R A P i) A S A e A A 2,489 (11,045 — 8,556 )
[ i 22 A 18,392 (127,703 — 109,311 )] ()
(EEX HE) P e B OBk e S 1 22,281 ( 21,840 — 44,121)
ANHEFERGR KEET) 1,375 (24,332 — 25,707 ) *iﬁ%&%{r% 1,466 ( 201 — 1,667 )
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i = E=4 886,580 0.3 907,255 0.3 A 20,675 97.7
& W ER 23,475,886 6.9 24,556,780 7.3 A 1,080,894 95.6
K 2 37,812,666] 11.2 37,363,109 11.1 449,557 101.2
1 s 2 9,440,301 2.8 9,297,276 2.8 143,025 101.5
5 JE] ER 3,788,083 1.1 896,120 0.3 2,891,963 | 422.7
= AR K pE E 25,653,528 7.6 25,800,183 7.6 A 146,655 99.4
[ T ER 18,494,931 5.5 19,675,371 5.8 A 1,180,440 94.0
+ K E=R 58,523,883 17.3 56,288,401 16.7 2,235,482 104.0
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N & E=4 56,405,299] 16.6 58,201,043 17.2 A 1,795,744 96.9
X & 13,196,569 3.9 13,327,646 3.9 A 131,077 99.0
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BEHSSTA Ry A 238 ( 344 — 106 ) BRI EEMRARERELEE 2,237 ( 0 — 2,237)
VXA UL SRS IR L3 A 207 ( 207 — 0) I Ts 7 AR A A A g 3 1,289 ( 10,280 — 11,569 )
(B & &) INEAE I 207 (1,113 — 1,320)
R R M BOUE 9 3E 587 (5,941 — 6,528 ) — RS A 1,409 ( 19,174 — 17,765 )
ERVSE S NG TN &) 273 (1,379 — 1,652) KT ZE ki E K 2500m b A 271 ( 337 — 66 )
LT TR — & AR B AR d 3 168 ( 0 — 168 ) (B 5= &)
B NEFBA LS A 422 ( 426 — 4) H B IR TG IR S A 786 ( 786 — 0)
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() & F &)
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A fas ¢ 95,035,452| 28.1 97,625,268| 28.9 A 2,589,816 97.3
® %) % 6,487,688 1.9 6,416,565 1.9 71,123 101.1
1 Bf) & Ak 63,845,377 18.9 61,272,956| 18.1 2,572,421 104.2
W oom M R F O B 69,723,662 20.6 67,342,575| 19.9 2,381,087 | 103.5
HiBh 3 (EEES ¢r) 44.,475,575]  13.1 44,704,9221 13.2 A 229,347 99.5
HL pi =X ¥ 24,748,506 7.3 22,426,422 6.6 2,322,084 110.4
= B =X ¥ 499,581 0.2 211,231 0.1 288,350 236.5
$ = 0 FE E 5,737,640 1.7 6,389,815 1.9 A 652,175 89.8
N & % 56,367,732 16.6 58,177,016 17.2 A 1,809,284 96.9
I AVA & 1,435,441 0.4 1,750,475 0.5 A 315,034 82.0
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Fa G- GRS T 4 BR) A 3,347 ( 85,773 — 82,426 ) BAE A S 500 ( 0 — 500 )
(B BEREER) R AR IR B M B SR 3 587 ( 5,941 — 6,528 )
TR AR R A 2 1,853 ( 351 — 2,204 ) Hiklbiak B o 449 ( 0 — 449 )
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WRAST AR R A e T 3 927 ( 426 —  1,353) {3 B N7 — NS BE il 2)CR ) 135 ( 300 — 435)
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X N SRR 2 14F B 205 o

MY EEE a | M TEEE b a/b
i Bh ®n X A 39,537 41,402 95.5
— % N 13 27,341 28,984 943
3 & it B 8 342 320 106.9
% FEEIE W 342 320 106.9
= % K 3 £h 4,479 4,772 93.9
....... 7 PE % * 0 0 -
LI - 2,173 2,911 98.3
M 8 - ES 1,322 1,599 82.7
1 K 0 ES 864 812 106.4
i) (L =® £ 78 124 62.9
K _PE AR OB i F 42 26 161.5
= T E23 & =B 22,520 23,892 94.3
H OB OB b x5 HOE 7,544 8,957 84.2
1 7 =* £ 648 519 124.9
1] | =5 E 3,214 2,702 118.9
1 I =* £ 334 334 100.0
b %) =5 * 5,290 5,764 91.8
vl PA = £ 110 259 425
b b 0 ES 625 639 97.8
ze ok # f H 3 0 0 —
| i 3 2,613 2,506 104.3
i) (L =* E 3 1,342 1,370 98.0
bl Pk 0 ES 800 849 95.0
E B = £ B £ 12,196 12,418 98.2
= #® K 3 £n 1,960 2.334 84.0
Lok LS (FH HEAMRS) 1,914 2,316 82.6
K _PE AR O i F 46 18 255.6
= T E23 & =B 10,236 10,084 101.5
T 5 B T I I S I R (o 625 460 135.9
_______ 1B s - ES 5,943 6,175 96.2
1] | =5 E 994 1,082 91.9
1 = =* £ 134 153 87.6
b %) =5 ¥ 331 301 110.0
vl pA = B 1,486 1,309 113.5
e = = E 3 312 352 88.6
7 HE =5 e 411 252 163.1
7] B i »n H B 20,841 19,555 106.6
Mok 3E D KR Al & R P & FOE 11,569 10,280 112.5
MF B OB E B O ¥ E 1,029 1,305 78.9
S % S L IES pici 90 95 94.7
5 ) S L = Bz 160 EE
— s HL JH N E 7,985 7,860 101.6
....... 4 i IR 15 i 142 127 111.8
_______ = R 7K PE Bl 69 75 92.0
I8 + fis Jii il 7,774 7,658 101.5
B R F & ¥ @m BB 4 = 8 15 53.3
(64,067) (105.1)

U\ E C=A+B 60,378 60,957 99.1
w B K% £F D 5,591 6,232 89.7
% £ N E 5,458 6,004 90.9
....... = ® 7K JEE s 632 850 74.4
3 + = Ui il 4,826 5,154 93.6
BB E F ¥ A H & 133 228 58.3
B W % F E 140 151 92.7
....... Jt i X 3 7B 7 7 100.0
I} I fiid fi i 133 144 92.4
(5,731) (89.8)

Ih A F=D+E 5,731 6,383 89.8
(69,798) (103.7)
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